Problems are already solved.

Please do not handwrite. I can only view attachments in Microsoft Word with equation editor or similar. Thanks. 

 I just need more detail on each problem how the solution was achieved using these steps.

Thanks for your help.      

10. Perform the indicated operation and write the answer in lowest terms: 
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23. Graph the quadratic equation and state the domain and range: y = 16 – x2
The domain is R: all real numbers; the range is 
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. Its graph is below.

               [image: image4.emf]
On the following, I am having trouble viewing the Number lines. Can you please re-do them along with the explanations so I can view them correctly?
Thanks!
24. Solve the inequality: w2 + 3w < 18.  Also state (in proper interval notation) and graph the solution set.

       w2 + 3w < 18 (> (w+6)(w-3)<0

So,

                   -6<x<3

Solution is (-6,3).
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25. Solve the inequality: 
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.  Also state (in proper interval notation) and graph the solution set.

When (x-2)(x+1)>0, i.e., x>2 or x<-1, I have

                  2(x+1)<3(x-2)

So, x>8

So, solution is x>8;

When (x-2)(x+1)<0, i.e., -1<x<2, I have

                  2(x+1)>3(x-2)

So, x<8

So, solution is –1<x<2;

So, the solution is 
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